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4 HLER AL 7 2 Bt 070901 |WW2t. &A% WK% |[&H#&] 412 |93 85.58
S HOER L2 22 5t 070901 (W%, ‘B WRY  |&H# [415 |91 85.4
B HOER L 27 22 Bt 070902 |[HhiEk{ik2~ 4 Hil |378 |90 79.92
FIhJEPE HOER L2 22 5t 070904 |43 Hh Jifi 2% 2 Hi  |426 |86 85.44
O HOER L 27 22 Bt 070904 | F43d Hb J5i 4 Hil 426 (85 85.14
THEERR HOBRB} 5 Bt 070904 | #4i Hb 5 2 4 H#l 1414 |90 84.96
FMFERH HLER AL 2 2 Bt 070904 | F43d Hb J5i 4 Hil 1381 |86 79.14
X5 HOER L2 22 5t 070904 |43 Hh Jifi 2% 2 HHl 365 |81 75.4
1o S Hi HLER AL 2 2 Bt 070904 | F43d Hb J5i 2 Hil |374 |76 75.16
BNEES HOER L2 22 5t 070905 | DU 2 Hh i 4 Hi  |409 |86 83.06
fif 3V 45 HER L 27 22 Bt 070905 |5 U 2 ith Jiii 2 2 HE 411 (81 81.84
ARt HOER L2 22 5t 070924 |ZEIASE 5 X kI 2HH 422 187 85.18
[ B HOER AL 2 2 Bt 0709Z4 |FyEIAE S XIS H K 4 Hi#l 410 (84 82.6
ArEF HOER L2 22 5t 070924 |ZEIASE 5 X kI 4 Hi  |400 |81 80.3
F A HOER AL 2 2 Bt 0709Z5 |# a5 ERY B 4 Hil  |365 (82 75.7
X1 Bt HOER L2 22 5t 070925 |5 A 5 HhERY) FE “H# (362 |80 74.68
S HOER AL 2 2 Bt 0709Z5 |# a5 ERY B 4 Hil o (362 (78 74.08
2= HOER L2 22 5t 070976 [ S5HHEE RS 2 Hi  |420 (93 86.7
IRED HLER AL 7 2 Bt 070926 |/ S5HIEEE RS 2 HiEl 416 (91 85.54
&R HOBRB} 5 Bt 070976 |EESHIE S RSt 2 Hul 1413 |92 85.42
BER— HLER AL 7 2 Bt 070926 | S5HIEE A5 2 Hil o (410 (89 84.1
TN HOER L2 22 5t 070976 [ S5HHEE RS 4 H#l |404 |88 82.96
e HOER AL 7 2 Bt 070926 | S5HIEE A5 4 Hil o [393 (87 81.12
¥y %I HOBRB} 5 Bt 070976 |EESHIE S RSt 4 H#l  |395 (86 81.1
T B HOER AL 7 2 Bt 070926 | S5HIEE A5 2 Hil o [379 (89 79.76
5K RAR HOER L2 22 5t 070976 [ S5HHEE RS 2Hi#l  |377 |85 78.28
P ] HER B 22 2B 070926 |3 S5HIEEE RSt 2 HE 1314 |71 65.26 |/ RE Ttk
Tk HOER L2 22 5t 070976 [ S5HHEE RS 42Hi#l  |381 |78 76.74 |3 ZFE L
J7 N HLER AL 7 2 Bt 070978 |HhERS (% 5355 2 HiEl o 419 (89 85.36
ok S HOER L2 22 5t 070978 |[HhERS {5 52085 2 HiHl (406 |90 83.84
X 75 i HER L2722 5t 070978 |HhERS (% 5355 2 Hi#l 1351 |94 77.34
ARG HOER L2 22 5t 085700 |%iE 5% 4 Hil  |1402 |87 82.38




